Efficiency vs P,

- 0.8

o
~
T

ermciency vs p
TTTT

A8 SR F R —
B SEETS W R —
A% SN SRR R
O SRS F R —

U NSRS N S S

Ratio

[y
TTTT] T T

—1 2 3
100110 el
figmal_RECO

[—=— DQM_VUUUI_ROUU0U0U00UI__Global__mKFitoriginal__]

—e— DQM_V0001_R000000001__Global_mkFitNewDetf__RECO
—— DQM_V0001_R000000001__Global_mkFitNewDett33__RECO
—— DOM_V0001_R000000001__Global__mkFitNewDetNoF__RECO

= 05
2 0.45
0.4F
£0.35
0.3F
0.25
0.2
0.15
0.1~
0.05

J_.\‘C'q|||||||||||||||||||||||||||

-2

-1 0 1 2 3
TP N

iclency vs

et

................................................

.........

LELBLILI IIIIIIIIIIIIIIIIIII IIIIIIIII IIIIIIIII
£
P
=

o

Ratio

0.95!

Efficiency vs ¢




	Contents
	Page 1


